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Theme A: People and Where They Live

(a) Study Fig. 1 which shows the growth of world population between 1000BC and
2025AD. Answer the questions which follow.
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© Understanding GCSE Geography by Ann Bowen & John Pallister, page 106, published by
Heinemann Educational, 1999. ISBN 0435351788. Reproduced by permission of Pearson Education Limited

Fig. 1
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(i) State the world’s population in 1993. Examiner Only

Marks
[1]

(ii) State the year when the world’s population was 610 million.

[1]

(b) Death rates started to fall from 1800 onwards. Give two reasons to
explain why this was the case.

[6]
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(c) Study Fig. 2 which gives information about migration to Australia in
2004-2005. Answer the questions which follow.
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Fig. 2

(i) State the meaning of the term immigration.

[2]

(ii) Describe what Fig. 2 shows about the origins of Australian
immigrants in 2004—-2005.

[4]
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(iii) Name an appropriate mapping method for this data. Examiner Only

Marks
[1]

(iv) State three advantages of using GIS to analyse migration.

[3]
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(d) Discuss the positive and negative impacts of migration for one Examiner Only
country within the European Union which you have studied. Marks

[8]
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(e) Study Fig. 3 which shows a geographical hierarchy of settlements. Examiner Only

Answer the questions which follow. Marks
Town
Village
Hamlet
Fig. 3

(i) State which settlement type from Fig. 3 has the greatest
population size.

[1]
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(i) Describe how and explain why the number of services varies Examiner Only
within a settlement hierarchy. Marks

[6]
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(f) Study Fig. 4 which names four land use zones found in cities. Answer
the question which follows.

CBD rural-urban fringe
inner city suburban residential
Fig. 4

Choose one of the land zones named in Fig. 4 and explain its
characteristics.

Name of land use zone

[4]
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(g) Study Fig. 5 which shows information about the regeneration planned Examiner Only
for London related to the 2012 Olympic Games. Answer the questions Marks | Remark |
which follow.

London to gain from 2012 Olympics

e The city could earn in excess of £5.9 billion due
to increases in tourism and inward investments.

e Hundreds of new media jobs will be created in Q%)
this run down area of NE London where there
used to be many food processing industries.

e Water quality will be improved in the Lower ,
Lea Valley near the Olympic site. This will
encourage wildlife back into the area.

© London 2012 Organising Committee of the Olympic and Paralympic Games Ltd

Fig. 5

(i) State one environmental improvement linked to the regeneration
of the area of London hosting the Olympic Games in 2012.

[1]

(i) Suggest why the jobs created in this project might not be suitable
for the local people of this area.

[3]
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(h) (i) State the meaning of the term shanty town. Examiner Only

Marks

[2]

(ii) Describe and explain the location and growth of shanty town
areas in a LEDC city which you have studied.

[7]
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Theme B: Contrasts in World Development

2 (a) Study Fig. 6 which shows world energy consumption per person (in
kg of oil equivalent). Answer the questions which follow.
Energy Use/Capita: Kg of Oil Equivalent
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Fig. 6

(i) Complete the bar for Japan, using the information below.

[2]

Japan 4000 (kg of oil equivalent)
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(ii) Describe the world development gap shown by energy Examiner Only
consumption. Refer to MEDCs and LEDCs in your answer. Marks

[6]

(iii) Explain why the Human Development Index (HDI) is a more
effective indicator of development than an economic indicator
such as energy consumption.

[3]
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(b) Study Fig. 7 which shows the employment structure of the UK and Ghana.

Answer the questions which follow.

Employment Structure for
The UK

0%

75% 25%

0%

75%

P -Primary
S-Secondary

509

% T-Tertiary

50%

Employment Structure for
Ghana

25%

P -Primary
S-Secondary
T-Tertiary

Fig. 7

© Learn on the Internet

(i) Complete the graph for Ghana, using the information below. [2] Examiner Only

Marks m

Ghana

Primary — 55%
Secondary — 20%
Tertiary — 25%

(ii) Explain how the employment structure of Ghana could hinder the

development of this LEDC.

[3]
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(c) Fairtrade is one sustainable method of reducing the gap between
LEDCs and MEDCs'.

FAIRTRADE

Source adapted from www.fairtrade.org.uk

Describe one advantage Fairtrade brings to LEDCs.

[3]
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(d) Name one method or strategy which could be used to help LEDCs to Examiner Only
develop, (apart from Fairtrade). Marks

Method or strategy

Explain two ways this method or strategy is helping improve the lives
of people in LEDCs.

[6]
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Theme C: Managing Our Resources

(a) Study Fig. 8 which shows the breakdown of a typical person’s carbon

footprint. Answer the questions that follow.

Breakdown of a typical person’s
carbon footprint

Share of public :
services Gas, Qil and Coal

Financial services 12% 15%
3%

Electricity
Recreation and 12%
leisure

(o]
g Private Transport

10%
Household
(buildings and
furnishings)
9%

Public Transport
3%

Holiday Flights
6%

Carbon in Car Clothes and
Manufacture personal effects
7% 4%

Food and Drink
5%

© L C Green Community

Fig. 8

(i) State the name of the graphical technique used to display this
data.

(ii) State the percentage to which public and private transport
contributes to a person’s carbon footprint on Fig. 8.

(iif) State the meaning of the term carbon footprint.
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(b) Study Fig. 9, which shows an advertisement for a travel company.

Answer the questions that follow.

Image of a hand holding a globe withdrawn
due to copyright.

Fig. 9

(i) Using Fig. 9 to help you, explain one reason why tourism has
grown globally.
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(i) Describe one negative cultural impact of tourism. You should Examiner Only
refer to a place in your answer. Marks

[3]
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(c) Study Fig. 10 which shows government targets in relation to waste Examiner Only

management. Answer the questions that follow. Marks
By 25% of waste to 75% of waste to go
2005 be recycled to landfill
By 30% of waste to 70% of waste to go
2010 be recycled to landfill
By 33% of waste to of waste to go
2015 be recycled to landfill

Source: Principal Examiner

Fig. 10

(i) Complete Fig. 10 by inserting the correct value for waste to go to
landfill by 2015. [1]

(if) Describe and explain how waste management is becoming more
sustainable in the UK. Refer to Fig. 10 in your answer.

[5]
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(d) Study Fig. 11 which shows how ecotourism is being promoted in
Costa Rica. Answer the questions that follow.

A map of Costa Rica showing protected areas and marine reserves
has been removed due to copyright restrictions.

Fig. 11

(i) Name the country that borders Costa Rica to the south east.

(ii) Name one eco-lodge in Costa Rica as shown on Fig. 11.

(iii) State the meaning of the term ecotourism.

[1]

[1]
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(iv) Using one case study from either a LEDC or a MEDC explain Examiner Only
how a sustainable tourism project benefits both the environment Marks
and the local community.

Name of project and country

[5]

THIS IS THE END OF THE QUESTION PAPER
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Permission to reproduce all copyright material has been applied for.
In some cases, efforts to contact copyright holders may have been unsuccessful and CCEA
will be happy to rectify any omissions of acknowledgement in future if notified.
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